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ANSWER KEY 
 
PART II: READING COMPEHENSION     (30 MARKS) 
 
A. Choose the best answer according to Passage 1.   (3 x 2= 6 marks) 
 
1. The right choice of a career  

B. needs to be done with careful thought. 
 

2.  Times have become more competitive, therefore you will 
A. face a lot of competition. 
 

3. Working hard is not enough to become famous. You must  
D. be witty, confident, charming and smart. 

 
B. Complete the paragraph with only ONE word from Passage 1. (5 x 2 = 10 marks) 

1. career 2. determined 3. enough 4. smartly 5. fame  
 
C. Choose the best answer according to Passage 2   ( 2 x 2 = 4 marks) 
 
1.  Facebook is a social networking website which helps people to 
   

B. get in touch with friends they have not seen for a long time. 
 
2. The most important benefit of facebook is that 
 
      A. your friends can respond to your feelings as soon as they log in. 
 
 
D. Indicate whether the following statements are TRUE OR FALSE according to 

Passage 2 (5x2=10 marks) 
 

1. F 2.F 3.T 4. F 5.T 
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PART III: USE OF ENGLISH       (40 MARKS) 
 
A. Choose the correct answer.      (10 x 1 = 10 marks)  
   
1.  (c) were sleeping 
2.  (d) have you been 
3.  (b) had already started 
4.  (d) used to play 
5.  (a) for a long time 
6.  (b) will have finished 
7.  (a) in 
8.  (c) much 
9.  (a) had seen 
10.  (b) will be checked 
 
 
B. Complete the second sentence so that it has a similar meaning to the first 

sentence, using the word given. Do not change the word given. 
(5 x 2 = 10 marks)  

 
1. was given 
2. were you 
3. have been playing 
4. wishes he had not left 
5. not to forget. 
 
 
C. Use the words given in the brackets to form words that fit the blanks.    

(10 x 1 = 10 marks) 
 
1. dramatically 2. personal 3. easier 4. harmful  5. effect 
6. development 7. users 8. distance 9. applications 10. employers / employees

  
        
 
D. Complete the gaps with ONE suitable word.    (10 x 1 = 10 marks) 
           
1. than 2. be/become           3. our  4. us  5. if/whether 
6. with 7. over/about  8. but/and/while  9. to   
10. way/phrase/motto 
 


